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QUESTION 1

A customer wants to connect two data centers on different subnets using EVPN. What are two implications of using
different IP subnets at each site? (Choose two.)

A. Using different IP subnets at each site allows Layer 3 gateways to exchange only type-3 routes.
B. MAC addresses will need to be advertised between the data centers.

C. MAC addresses will not need to be advertised between the data centers.

D. Using different IP subnets at each site allows Layer 3 gateways to exchange only type-5 routes.

Correct Answer: CD

QUESTION 2

Which two statements about ZTP are true? (Choose two.)

A. The image storage service and the DHCP server can be running on different server hosts.

B. When a switch is booted. DHCP requests are sent only through the management Ethernet interface.

C. The image storage service must be running on the same server host where the DHCP service is running.

D. When a switch is booted, DHCP requests are sent through the management interface as well as attached revenue
ports.

Correct Answer:. AB

QUESTION 3

Which two statements define the use of route targets and route distinguishers in an EVPN? (Choose two.)
A. Route distinguishers ensure that routes from different client remain unique within the data center domain
B. Route targets ensure that routes from different clients remain unique within the data center domain

C. Route distinguishers identify the VRF into which the route should be placed

D. Route targets identify the VRF into which the route should be placed

Correct Answer: AD

QUESTION 4

You are asked to implement VXLAN in your data center network. You must choose between implementing EVPN
signaling and multicast signaling. Which two statements are correct in this scenario? (Choose two.)
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A. EVPN signaling reduces ARP flooding and multicast signaling does not.

B. EVPN signaling propagates MAC addresses across the network and multicast signaling does not.

C. EVPN signaling uses a standards-based protocol and multicast signaling does not.

D. EVPN signaling enables distributed Layer 3 gateways and multicast signaling does not.

Correct Answer: BC

QUESTION 5

You have configured a new MC-LAG connection to a host. After committing the configuration, the MC-LAG link is not

functioning properly.

{master:0} [edit interfaces ael]
user@gfzl# show
aggregated-ether-options |
lacp {
active;

system—-id 01:01:01:01:01:01;

admin-key 1;
}
mc-ae {
mc-ae-id 0;
chassis-id 0;
mode active-active;
status-control active;
}
}
unit 0 {
family ethernet-switching {
vlan |
members v15;

}

Referring to the exhibit, how would you solve this problem?

{master:0} [edit interfaces ael)]
user@gfx2# show
aggregated-ether-options |
lacp f{
active;
system—-id 01:01:01:01:01:01;
admin-key 1;
1
mc—-ae |
mc-ae-id 1;
chassis-id 1;
mode active-active;
status-control standby;
]
}
unit 0 {
family ethernet-switching {
vlan {
members v15;
}

A. Configure a system-id on gfx1 that is different from the system-id on qfx2

B. Change the mc-ae ison gfx1to 1
C. Configure status-control on gfx2 to active
D. Change the chassis on gfx1 to 1

Correct Answer: B
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